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Z, = L B — T Amw
Unlversal Gas Constant (R)= 8314 ) mar?
Avogadro Number( N,y ) = 6.022 =10" mal?
Planck Constany (h)=6626x10"s
Velocity of Sound( C) =3.0 x 10° s
Ol Sclect the correct answer regarding scientist related with follo

(n) Nuclear positive charge increases by one unit of electrons
(b) Discovery of positive charged particles of matter,

wing statements respectively,

1. William Aston and Ernest Rutherford
2, Jefry Mosely and Eugen Goldstein

3. Jefry Mosely and Ernest Rutherford

4. Eujen Goldstein and Emest Rutherford
5. Robert Millikan and Eugen Goldstein

02. A set ofquan.lum numbers of last electron of Cr (Z=24) is,
L (4,0,0,+3) 2. (5,0,0,+3) 3. (41,043
4. (5,1,0,+3) 5. (42,143

03. Consider molecule given below,

|
_— s —_ — — = - H
chHz?CfCH?CH C‘?C*
a b ¢ d e f

i i der of bond lengths a,b,c¢,d,e and f is,
Cﬂﬂ'e;:t";ff;ﬂ;lﬂ{g;r{e{a{f 2. e<d<c<b<f<a l.c<b<d<e<a<f

4. f<a<e<d<c<b 5. a<f<e<c<d<b

' 04. [UPAC name of the compound given below is,
0 Br

I
CH, = CH —C—CH— CH,0H
1. 4-bromo-5-hydroxypent-1-en-3-one
w:(}'—*l-bmmnpcm— 1-en-3-one
5. 2-bromo -3- oxopent-4-ene-1-ol

2. 2-bromo-1-hydroxypent-4-en-3-one
4. 2-bromo-3-oxopent-4-en-1-0l
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s NOT,NO; and NO7 is.
h v . - planar in shape.

pe while NO3
2. All spec

3, Hybridation of N inboth NO7 and NO7 is :p‘../

NOZ has two N — 0 bond with different bond lenght.
is angular in shape.

Correct statement regardin
is trigonal

NO;5and N0} are angular in sha

I
ies N is in same hybridation. »

4.
s, NOj istrigonal pymmidal in shape while NO3

Correct increasing order of thermal stability is,
1. Na,CO; < MgCO; < NaHCO; < Mg(HCO3)2

2. MgCO; < Na;CO; < NalC0; < Mg(HCOs);
3. Mg(HCO;); < MgCOy < NaHCO3 < NazC0;
==

4. MgCOs < Na;CO3 < Mg(HCO3); < NaHCO;

5. MgCo; < Mgffco;)ze: Na,C05 < NaHCO;

Select incorrect statement regarding electronegativity.

07.
1. Electronegativity of C increases as CaHg < C,H, < CHy

2. Electronegativity of N increases as NHy < NHj < NH{ .

3. Electronegativity of increases as SO?“:: 505~ < H;S
r-———-

4. Electronegativity of an atom inversely proportional to the atomic radius. _/
5. 0 has the 2™ most highest electronegativity from the clectronegativity of elements in the

table. A

following properties are shown by aqueous X
n to X given white precitate which dissolves in dil HCl
jtate which

o of X and then BaCl, solutions gives white precip

peiodic

08.
I. Adding BaCl, solutio

I1. Adding H50; to the aqueous solutio

insoluble in dil HCI

Anion X is,
2. Cro;~ 3. NO3

1, CO¥
4. 503~ 5. SO 4

—— ’
Mass of iron nail increases by

percentage that get corroded with respect to mass ©

56) |
1. 23.3% 3. 20%
10. Select incorrect step of the mechanism of clorinati

L ClyCH+ Ol = CCly+ 'm' 2. CHt Ef s HyC +HC 3. CHyCl+ Q1 = E:xlzi\m
4. ClLHC +Cl; = CHCl3+ Cl 5&;‘ Cl = CH,Cl |

on is Fe,03. Find

20% due to corrosion. Fomula of corroded i
f total iron. (Relative atomic mass of Fe 18

4.25% 5. 40%

2. 46.6%
on of alkene.




eeded to oxidize

16.

18.

Fn .x” ion oxidizes into X™* by MnOj in acidic medium. 2 X 10™3mol of MnO; n
12. A set of molecule/ ion which have four atoms in the same plane is,

13.

14,

15,

50cm? of 0.1moldm™2 X?* ions. What is the value of 'n" 7

2.2 3.3 4, 4
e,

g 5.5
1

1. BCls, S0} 2.XeOF, S0, i NO; ,NHy % |

. n

4. SOF, XeOF, 5.503, HCHO |
#
The concentration of K*in a K, S0, solution is 0.02moldm=2. Find the composition of K;50, in,

(K =39,5=32,0 = 16)

1. 1560 2. 870 3. 1724 4. 1740 5.3480 \
o III

The products formed when excess S and NaOH reacted,

. Na;§S Na,56,,H:0 2 Na,s,0 ,Nas 3, Nax§,50,,H,0 4. Na,s0, | 3 ”‘3‘5403 \
= Hz0. Na350;, ©0a,
. )\_ Hz0 HaoO

0.48g of sample of Mn0O, was dissolved is dil.H,S0, and excess 1.9g of FeS0,was added to it, The
volume of 0.1moldm™ KMn0, necessary to titrate with this solution was 15 cm?. Mass percentage

of MnO, in the sample is, (Mn = 55,0 = 16,5 = 32)
3. 50% 4. 60% 5.66%

1. 30% 2.45%
What is the cation that gives,

L. Gives yellow brown solution with excess NH,

II. Gives blue coloured solution with cone. HCl

IIL Does not give precipitate when H,S gas is passed in the acidic medium,

Cu?t 2. Ni** 3. Co?* 4. Fe?*t 5. Mn?t

1
P » s P

Pressure of 1.6 g of CHy(g) gas included in a vessel with V volume is 1 x 10°Pa. N, gas is

included to same vessel until pressure become 4 X 105Pa. The number of moles of N, gas that

included to the vessel is,
1. 030 2. 0.25 3.0.20 4. 0.15 5. 0.10
has 1o be used to generate |

Butane (C,4H,,) is used as a fuel in domestic gas cylinders. The mass of 0,
energy by complete combution of 1kg of butane is, (C=12,H =1,0 = 16)

. 320kg 2.340 kg 3.351kg 4. 3.82kg 5. 3.60 kg

—



/ —
-3

se when 100cm? _ur imoldm™" NaOH., and 100cm? of lmoldm=» I

siat beaker is. (Ignore the heat sbsorbed by the containes MEHCL g,

= =57K)mol="

The temperature mi
mixed together in a thermo
aof neutralization of NaOH /HCI

Enthalphy —
Specific heat capacity of the solution =4.2Jg" 'K !
Density ©F soiukon =1gem™
L 3°C 2. 4.2°C 3.5.6°C o . —
In d formed b "
20. Correct statement regarding compound lormed by element nitrogen N is,
FA ) Sodium forms NayN when it reacts with N, X
B) All ammonium salts evolve NH; when adding base.
C) Chloride of N; gives HCl and NH; when it undergoes hydrolysis, X
1. A and C correct 2. A and B correct 3.C and B correc
_— t
4. All correct 5. Only C correct
21,  Given that
Cioy + 25 — €S2 s AH? = 117K]mol™*
Cig) + 0200 ~ CO2() ;AH? = —393KJmol™?
S + Q(FJ = S503¢9) ;AHY = —297K/mol™?
The heat of combution of CSg,to form CO, g and S0y is,
— = -1
1. 1104 KJmol E +1104 KJmol 3. +807 Kjmol™?

4. —807 KJmol™* 5. +1041 KJmol™*

Select the molecules having dipole moment (i),

Cl
| *

1. ©, cl 2, cis-1,2— dibromoethene 3. H,0,

4, XEP:; 5. X€0F4

22,

23, Select the correct order of electronegativity of central atom of the ions/ molecules given belo
1. NH7 <NH{ <CF, <CCly y
2. NH} < CF, < CCl, <NH; R
3. CF,<CCly <NH; <NH;
LCCQ < CF, < NH; < NH;

5. CCly < CFy < NHf < NH; X
P T ——— - L



25,

26.

Porrect statement regarding gases is,
- 1. Compressibility factor Z, is the ralio of actual molar volume of a gas to the molar volume of it if it

behave as an ideal gas at that temperature and pressure,,

. ' an? .
2. In Vander Wall's equation S 2 is a constant related to the mognitude of attractive forces and is

independent of temperature and pressure,

—

3. The kinetic energy of a gas depends only on the Kelvin temperature, |

4, The more gas particles, the preater the frequency of collisions with the walls of the container, the
lower the pressure, J

5. The lowest hypothetical or imaginary temperature at which gases are supposed to occupy zero
volume is called absolute zero,

Select correct statement regarding s - block elements.
1. BH5 can be prepared when B react with H, at high temperature and BHj is stable. ¥

2. Only Group 1 elements form their peroxides. -

3. Lithium forms unstable nitride when Li reacts with N,

4. Mg has the lowest melting point from the all group 2 elements.

5. Lireacts with water vigorously with ignition.

Consider reaction chain given below select A and B,

Hg?* /dil HySO, Zn[Hg)
- A .2
60°C conc. HCL

0
CHg"(l:!—CHa ,{:H3CH=CH2 o

| i
2. CH; CHyCHz ,CH3 = €~ CHs



C}CHa-CH- —
| C=c-cn,

_.CEC__C.HZ
BJCchﬁzczc_c

les
with molecular fomula CeH,,
1]

Consider reactions (1). (1) and (iii) given below and find correct their reaction types respectively. \

chromium is p

obtained on heating (N Hy)2C1207.

1. 67203, CI‘03
4. CTO:,'. Cf'zOs

recipitated. On heating X, the green amp

X and Y can be,

2 C?'Og . CT?_03 J
—

5. Cr0,, Cr03 J

hoteric oxide Y 1s obtained. Y

A_ = Electrophilic
£ waddihon

=Electrophmirl '
SE i gubsnmncm

Sy = Nuclecphilit SubsrahD
A = Nucleophlit addihen
N

3. Ag, Se.Sn

p—

the bright red acidic oxide X of
could 2lso be

CH,
Select correct answer,
Type of iso
L | Chain isomer 5 grre
2. | Functional gowp A C
S isomer RS s
- Position isomer
-_ﬁ._ Chuin isomcr g:g !
5. Position isomer A;C
28.  Select correct colour given for each, complex in each group,
A) [Co(NH3)¢]P*= ycllowisﬁnrom. [Cu(NH3) ]“= Colaﬁurlcss
B) [ZnC14]*~ = colourless, [FeCly]™ = yellow ':,-
C) [CuCL)?~ = yellow, [Mn(H,0)¢]** = pale pink v
v
1. A,B 2, B..C 3.C,D
4. OnlyB 5. yellowC
29.
(’i) CH3 CH = CHZ HBT 3 CH3CHBT CHg
r
(ii). CH,Cl . /@
A'ﬂ.. .‘”Clg ”5":'
Gil).  CHaCHy CH Cl AR
1. AE,SE,AN . AEJA"’SH
.
4, SE; AEJ SN 5- SH'AE " F
A
. 1 with conc. HzS04,
30. When a concentrated solution of K;Cr207 18 treated e

% CT105 ) CT203 J



=+ For h i
l Eic:re?icsfagi :,ht qufﬁllons 31 to 40, one or more responses out of the four responses (a), (b). (c) and (d)
orrect, i instructi .

o shce:i mSat-:rllL:ct the correct response / responses. In accordance with the instructions given on

(1) _il'nnly (a) and (b) are correct,

(2) if only (b) and (c) are correct.

(3) ff‘only (¢) and (d) are correct,

(4) if only (d) and (a) are correct.

(5) if any other number or combination of responses is correct,

Summary of above Instructions

(D @) &) ) () |

Only (a) and Only (b) and Only (¢) and Only (d) and Arp' o!lu:r number of :
(b) are correct | (c)are correct (d) are correct | (a) are correct combination of responses is
correct

31 Select correct statement/ statements of simple covalent compound with oxygen and nitrogen,
a. H,0; acts as both oxidizing agent and as reducing agcnt.J
)\ -

'b. NH; acts only as a base not as an acid. Y-
¢. Bondangle NF; is greater than bond angle of NH; . X

d. S0, acts as both oxidizing agent as well as reducing agent. J

32.  Select correct statement/ statements regarding alkynes.

a. All alkynes make carbonyl compounds when react with Hg?* and dill H,S0,. .
b. Alkynes those with terminal hydrogen release H, when it reacts with Ko 4 v ’k?a f_f::) .

c. Alkyne makes alkene when it reacts with % , BaS0,, quinoline.f e
d. All alkynes make alkene magnesium halides when react with Grignard regent. &

33,  When any reaction occurs spontaneously at constant temperature and pressure.

a. Enthalpy of the system decreases. J/

b. Entropy of system increases, /
¢. No change in entropy of the systemX
d. Increases the enthalpy of the system,

g3

34.  Correct statement/ statements regarding 3d- block elements and their compounds is/ are,
i

a. All compounds formed by Ti are colourless. \/
b. Ni(OH), insoluble in excess ammonia solution.{.@ @ i

c. All d- block elements except Zn are transition metal. X - . .
d. Colour of [CoCly]?" isblue in colour and during dilution it converts to  [C 0(H,0)]*" pink

_i
1

solution. 7



35.  Correct statement regarding products formed by compound P given below DY aaaing ADr 1swe,

H CH
e &

CHy = C =C = CH,

a. Main product formed is tertiary alkyl halide. / Q b g

b. Reaction is electrophilic addition. w4

¢. Main product is given via secondary carbonation. )< .
d. Product given by P with HBr in the presence of peroxide shows stereoisomerism. X 1

36. Corre 5
o c.t Stﬁtcmenv statements regarding real real gases that used to correction factor for the ideal gas
equation is/ are,

a. Loweri . )
b ef&c::“g P:CSSurc ft?f a lrcﬂl gas is due to intermolecular interactions. v
. e VO ume (8] molec \ )
. ular movement of real gas at high pressure increase. J{
d

P N —— -

. ]'\)J’rc;:;me of' ideal gas at high pressure is lower than the volume of a real ges at high pressure. 7{‘
. ure excreted by real gas is lower than pressure excerted by ideal gas at same cmdiﬁons;/

37. Correct statement/ statements regarding elements in 18" group of the periodic table.

a. All element have positive enthalpy of element gain. X
b. Xe has oxidation numbers +2, +4, +6 and +8 . /
c.
d.

Electron pair geometry of XeF, is tetrahedral.y [—0\\
He He has the highest enthalpy of gain. (-’

38, Correct statement/ statements is/ are,

Line spectrum of Shydmgen confirms the quantization of energy. /
All atomic orbital,have same energy. X
AE volume of emission spectrum, is positive. J

ae oep

Shape of atomic orbitals is decided by azimuthal quantum number.

Correct statement/ statements regarding‘ nitrogen contalning cozqapédndﬁ,
a. NCl; isan ionic compound. 3.
b. NCl; make an acid and a base by reacting it with H;0 J =,
. U\'
¢. Themal decomposition of NH,NO; release N, gas. g
- d. NH} salts releases Hz when reacts with a base. %

@ Boiling point of Br, is low than boiling point of ICL Correct statement/ statements is/ are,
a. Both Br, and ICT are isoelectronic species.

b. Br, molecules are non-polar and molecules IC are polar. /' / ' | L
eractions of /Cl are greater than the intermolecular integrations of Bry v I

needed to for the boiling of any chemical species having stron.

o - f/\

¢. Inter molecular int

d. Considerable amount of enj?y
dinole-dipole iterations.



. , quest
e given below WO statemenns are given in respect of ”?11,, (2)

ark are! the response, guy of the fesponses
PPTopristely on your answer shect.

4]

The most des
stable oxide of Mn is Mno, Py OfJ n
acidity of their oxides;

gases  wi mber : oC an
e tem With  same vnl;i::]esmfm the any | Molar volume of an ideal 3‘;5 S
perature and pressure, J onstant | 1arm pressure is 224 dM°
Alkyhydrogen sulfa T
43 sulfate . : ur V3
BO]d conc. stO‘- nmke alkeﬁc reacts m-th Electmphilic ﬂ,ddjtion mcuc,ns ocC
-~ v intermediate carbocation. _/
of the reacti
o Entropy of a reaction decreases due to lower
B I;z(ﬂ} + SHZ(EJ = 2N H3(g) is negative value. number of gaseous pTDdllClS. Iy
ghcr temperature are favorable for the @
reaction »
45 Watcr sodLubilitﬂ}]- of group 1 carbonates | Only lattice energy affects the solubility of
increases down the group. salt.
A x |
NHj; evolves when NaNH, reacts with Electronegativity of C with triple bonds 1n
46 {H —C =C — H (Acetylene) %‘ < alkynes higher due to sp hybridization when
compared to other hydrocarbons:/ —
47 Boiling pdint of HF is grater than other | H atom when join with electronegative atoms
hydrogen halides. ._// can make Hydrogen bonds.
. Secondary  interaction  forces strength
48 | Boiling point of pentane is lower than 2.2-| gecrenses when increasing surface area of
dimethylpropane. X molecules. _ @
o . | Electron-repulsion forces are prominent when
49 | Few atoms are having positive electron gaib | ,;ino electrons to the atom of the past stable
energy. &?Q—a} . nfiguration. v/
\\ 1A
The reaction, l lz is an inert gas towards reactions.

external energy.
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